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PZI7IVNE 5.2%  EMEBE 2406 g/cm?

No B WMEOHE | ERETVE | BNTEE
1 (g/cm?) (%) (mm) (El/mm)
1 2.409 100.1 0.96 3000
2 2.401 99.8 0.66 2630
3 2.405 100.0 1.17 3150
15 2.405 100.0 0.93 2860
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AEL-BH TRA—IURS Y DI R I
BEYDESE BRIEX vy I PRI7IVNEE(13)
BANOEERE 2.406 (9./cm3)
INA S DIESE BRI 7IVNT B
FRI7IVNE | 5.2 (%)
papormen  Q.EN 2B 3. RBUN B C,=1.0
SBRRME LEEE 686 N BHE  0.63 MPa
HEBEE 60 C FTEH 2520 @
e (.05 2. 71— BEFE C=1.0
R EDNo. 1 2 3 19
DR DB (g/cm3)| 2.409| 2.401| 2.405| 2.405
QERIEDHHEDE (%) 100.1| 99.8| 100.0| 100.0
® daio 1.28|  1.15| 1.46
28 (mm) @  dus 1.59| 1.38] 1.77
® deo 1.80| 1.62| 1.97
OLEHBDE 6-@ 0.21| 0.24| 0.20{®@ 0.22
ORRER(DS) | Dps=15x42:CixCo/ | 3500|  2630| 3150
(E,/mm) ©
OHIEHIRTERE (DS) | DS =15%42%C%C.,/ 9 2860
(|, mm) @
OFIEE DEDTS (9-®)2 19600| 52900| 84100
OEtRE S=(z@/n-1)"? @ 280
QIR (%) 0/ 9.8
EREE (%) do 0.96| 0.66| 1.17| 0.93
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SAERBFRS [42] DO DS RD
PSRN, 0 ‘ 5 104 16 | 30 | 45 | 60 rml | [E/mm] | /4
No. 3 0.00 0.35 0.68 0.91 1.05 1. 46 1.77 1.97 1.17 3150.0 0.0133
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